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Understanding Difference of Two Squares

	Key Stage
	：
	3

	Dimension
	：
	Number and Algebra

	Learning Unit
	：
	Factorization of Simple Polynomials

	Basic Competency
	：
	KS3-NA11-3

Factorize simple polynomials by using difference of two squares or perfect square expressions once.


Introduction：
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Figure Sheet - Difference of Two Squares
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The teacher asks students to form groups of two to four, and distribute the figure sheets and discussion card “Difference of Two Squares” to each group.  Have students discover � EMBED Equation.3  ��� from the perspective of geometry through studying the questions in the discussion card.


The teacher asks students to present their findings, then make conclusion.


The teacher points out that：











                 � EMBED Equation.3  ���





	


The teacher can demonstrate how to expand � EMBED Equation.3  ���:


				� EMBED Equation.3  ���	


						  � EMBED Equation.3  ���


The teacher can help students grasp the concept step-by-step with the aid of examples:：


Factorize � EMBED Equation.3  ���


� EMBED Equation.3  ���


						 � EMBED Equation.3  ���
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a





a





b





a-b





a-b








b





Discussion Card-Difference of Two Squares（Answers）





Using the diagram above, follow the steps to answer the questions below.  Then, find out how to rewrite � EMBED Equation.3  ���.


Cut out figure (iii) and write down the area of the remaining figures (i.e. figure (i) and figure (ii)).


     � EMBED Equation.3  ���	





Cut out figure (ii).  Combine it with figure (i) to form another rectangle.  Write down the length and width of the new rectangle.


     � EMBED Equation.3  ���	and � EMBED Equation.3  ���





Using your answers in (1) and (2), can you rewrite � EMBED Equation.3  ���?


     � EMBED Equation.3  ���  





Using your answer in (3) calculate � EMBED Equation.3  ��� without the help of calculator.


� EMBED Equation.3  ���


		   � EMBED Equation.3  ���


		   � EMBED Equation.3  ���





�





�





Factorization





Expansion





(ii)	Factorize � EMBED Equation.3  ���


					� EMBED Equation.3  ���


						  � EMBED Equation.3  ���








Factorize � EMBED Equation.3  ���


� EMBED Equation.3  ���


   � EMBED Equation.3  ���


   � EMBED Equation.3  ���





(iv)	Factorize � EMBED Equation.3  ���


				� EMBED Equation.3  ���


							  � EMBED Equation.3  ���


							  � EMBED Equation.3  ���	


Depending on the students’ learning difficulties and progress, the teacher may remind them that � EMBED Equation.3  ���.  The teacher can explain this concept to students using the two suggested methods below.


If a = 3 and b = 2, then � EMBED Equation.3  ���, but � EMBED Equation.3  ���.  Therefore, � EMBED Equation.3  ���。


In � EMBED Equation.3  ���, the squares in � EMBED Equation.3  ��� and � EMBED Equation.3  ��� do not include 4 and 9.


6.	The teacher makes conclusion.























	





Discussion Card-Difference of Two Squares





Using the diagram above, follow the steps to answer the questions below.  Then, find out how to rewrite � EMBED Equation.3  ���.


Cut out figure (iii) and write down the area of the remaining figures (i.e. figure (i) and figure (ii)).








Cut out figure (ii).  Combine it with figure (i) to form another rectangle.  Write down the length and width of the new rectangle.








Using your answers in (1) and (2), can you rewrite � EMBED Equation.3  ���?








Using your answer in (3) calculate � EMBED Equation.3  ��� without the help of calculator.





The square roots of both 4 and 9 are integers.  Therefore, � EMBED Equation.3  ��� and 9 can be written as � EMBED Equation.3  ��� and � EMBED Equation.3  ���.





The square roots of neither 7 nor 63 are integers.  After taking out the common factor 7, we have 1 and 9, the square roots of which are integers.  They can be written as � EMBED Equation.3  ��� and � EMBED Equation.3  ���.





Figure (i)





Figure (ii)





Figure (iii)
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